	SR =  a1 (KomIn) + a2 (RD) + a3 (DPS) + a4 (KA) +e

	Description 
	Results 
	                              Sig. 

	KomIn
	-.022
	.296

	RD
	.001
	.240

	DPS
	.041
	.037

	KA
	-.044
	.003

	t–Stat 
	

	Adjusted R2 
0.198
	


	ROA =  b1 (KomIn) + b2 (RD) + b3 (DPS) + b4 (KA) +e

	Description 
	Results 
	                              Sig. 

	KomIn
	.434
	.786

	RD
	-.764
	.033

	DPS
	-2.003
	.014

	KA
	2.478
	.008

	t–Stat 
	

	Adjusted R2 
    0.129
	


	SR =  c1 (ROA) +e

	Description 
	Results 
	                              Sig. 

	ROA
	-0.10
	.085

	t–Stat 
	

	Adjusted R2 
  0.059
	


